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2028E =Y 4 3 SEANASEH
E: 400 ZHD23S
2420 N - 2EHNR2S
8 421 N - ZEFNT3S (S9:d8d)
-85 Ol &k o4 PlE-E HRz2
=R 4,598,915 4,848,823 249,908
400 ZHRLIE 23,337 0 23,337
420 N - 2ZFNR3E 23,337 0 23,337
21 A - 2ZHRR3S 23,337 0 23,337
421-01 Al - 2L EZ N3 23,337 0 23,337
<gesHAMLL 23,337 0 23,337
o 2FMLRYS 23,337,600 23,337 0 23,337
700 2H S LTI N 1,217,613 1,490,858 A 273,245
710 BESAS 1,177,739 1,450,984 ~273,245
711 203 1,177,739 1,450,984 ~273,245
711-01 &=AIAH L 013 1,177,739 1,450,984 ~273,245
<geszAMgL > 1,177,739 1,450,984 N 273,245
o =AALNHB 2 & 1,177,739,0002 1,177,739 1,450,984 ~ 273,245
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